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30CHOY R} 73 76 25.1 27.7 38.1 9.1 -
o1z 40CH Xt 98 95 56.2 21.3 18.4 3.1 1.0
40CHOf Rt 106 92 47.7 24.9 18.9 5.9 2.6
50CH 2t 107 98 355 435 11.9 71 2.0
50CH Of Rt 112 96 45.6 32.1 14.4 5.9 2.0
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A (1035) (1000) 347 30.5 19.8 11.6 34
18M| 0|4 20CH 148 177 16.8 51.9 19.0 11.9 0.5
30rH 171 158 322 343 204 11.9 1.2
] 40ty 204 187 50.2 273 13.3 7.2 2.0
50CH 219 194 416 26.9 13.7 15.7 2.0
60| o] & 293 284 32.1 19.7 285 114 8.2
A Had 532 496 36.3 37.4 15.1 8.8 2.4
< oy 503 504 33.0 23.7 245 145 44
18M|0| 4 20CH X} 100 93 16.9 714 8.1 2.7 0.9
18A10] 4} 20CH Of Rt 48 84 16.6 304 31.0 22.0 -
30CH R} 98 82 40.9 39.1 126 6.3 1.1
30CHOf R} 73 76 23.0 293 286 17.8 13
o121/ 40CH Rt 98 95 53.2 30.2 9.3 6.3 1.0
40CH Of X} 106 92 47.1 24.2 17.5 8.2 3.0
50CH =R} 107 98 388 318 133 16.2 -
50CH Of Xt 112 96 445 22.0 14.1 153 4.1
60Al O] & Xt 129 128 333 216 27.2 10.8 7.0
60M[0] & O{ Kt 164 156 31.1 18.1 295 12.0 9.3
ME 191 190 325 287 18.9 173 26
A71/9H 302 313 38.0 28.8 19.7 10.1 34
HE/BZE/MB 112 106 358 29.9 214 10.0 2.8
X ZE/HAFE 53 43 313 356 17.0 125 36
B2 A 162 152 25.8 374 20.6 11.9 43
/35 104 98 28.5 36.2 22.0 93 40
Hg/2F/AS 11 98 483 214 18.1 9.0 32
4sd 4 4 - 80.2 19.8 - -
4%l 7 7 56.8 14.5 145 143 -
HHE 22 23 333 16.1 427 8.0 -
PgSEs 22 23 114 30.1 415 17.0 -
s|8 1 9 345 19.0 27.1 19.5 -
a5 34 32 24.2 429 24.4 85 -
) Mg 248 234 52 273 316 238 12.2
*r;iai%-% ol 107 117 20.8 12.9 44.6 19.9 17
O|xHH 288 273 93.4 4.1 1.1 1.5 -
M= 20 20 184 12.8 56.1 12,6 -
By 22 20 - 39.4 376 23.0 -
Z=0|of 24 26 489 25.6 20.7 48 -
EEE 183 174 37 943 1.1 0.9 -
J|EtZHE 12 1 9.1 - 487 26.4 15.7
XX zRS 21 20 239 12.0 147 494 -
Qe 10 9 15.1 215 44.7 - 18.7
O|xHH 369 350 87.2 83 28 14 0.3
Mg 341 320 5.9 38.7 283 19.1 8.0
7t A J|EtZE 226 228 48 51.6 36.6 7.0 -
XX z2eS 79 82 11.8 316 14.0 40.2 2.5
EHDE 20 20 10.2 428 147 6.4 25.9
GE0f 2xEg 332 333 65.0 8.8 15.7 94 1.0
=0 &l 377 353 49 53.5 226 12.8 6.1
Ho|gt 41 40 463 14.7 235 15.5 -
XI%| =09 & 75 70 11.8 357 30.9 13.2 83
xich g axEe 74 74 75.9 48 16.6 13 13
°° 7|EpE gt 14 13 228 273 365 134 -
x| He els 110 106 243 432 15.5 17.0
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5) 18, SMENAME S XIXde ot &2810| G3 212 S It JtE )| HEF22 HEotCtl] d2otdLinrsd 2 ZHI01E010,08 L& st & Xtel LI

A V5% Hatst k7| 5™
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A (1035) (1000) 0.4 0.7 2.3 2.3 0.9 3.2 23.4 1.7 27.3 2.0 2.0 2.6 174 1.1 2.0 0.9
18M[0] 4 20CH 148 177 - 1.0 40 43 - 4.1 11.1 18.0 12.0 1.6 0.9 5.1 36.8 - 1.1 -
30cH 171 158 . 1.3 2.0 3.9 = 5.7 14.1 17.8 243 1.8 23 3.5 18.9 1.0 2.5 1.0
Vil 40CH 204 187 0.5 - 41 2.0 0.2 2.1 13.2 6.2 40.3 1.1 4.0 47 16.2 2.4 15 14
50CH 219 194 14 1.0 1.0 0.6 1.6 1.9 28.4 9.8 335 2.5 = 0.5 11.9 2.0 3.1 0.7
6040 & 293 284 - 0.3 1.0 14 1.9 2.8 39.3 9.3 25.8 2.5 2.7 0.7 9.0 0.3 1.7 13
s A 532 496 0.4 0.6 1.9 1.7 0.7 33 21.9 6.0 30.8 2.0 14 2.1 24.2 0.9 1.8 0.5
° oy 503 504 0.3 0.8 2.7 29 1.1 3.1 24.9 17.2 24.0 1.9 26 3.2 10.6 1.2 2.1 14
18 M0 4} 20CH =Xt 100 93 - 1.9 2.0 3.8 - 5.6 13.3 2.0 11.0 - 1.8 0.9 55.7 - 2.0 -
18 0| A 20CH Of X} 48 84 - - 6.3 49 = 2.4 8.7 35.8 13.1 3.3 = 96 15.9 = - =
30CH At 98 82 - - 1.9 2.1 - 5.2 15.2 5.4 35.3 1.1 2.0 3.1 24.3 0.8 3.7 -
30CHO Rt 73 76 - 2.8 2.0 5.9 - 6.3 12.8 30.9 12.6 26 26 3.9 13.1 1.2 13 2.0
ozl /A8 A0CH &AL 98 95 1.0 - 2.1 - - 2.0 12.2 4.1 45.9 2.1 2.1 4.1 20.2 3.2 1.1 -
—_ O/ o2
40CH O K} 106 92 - . 6.2 40 0.5 2.3 14.3 8.3 34,5 - 5.9 5.3 12.1 1.6 2.0 2.9
50CH At 107 98 1.0 1.0 2.0 - 0.4 3.0 28.5 8.9 29.7 40 = 1.0 18.1 - 2.0 0.4
50CH Of Xt 112 96 1.8 1.0 - 13 2.8 0.8 28.2 10.8 374 1.1 - - 5.7 4.1 4.1 1.0
60| O| Ak X} 129 128 - - 1.5 23 2.3 1.6 34.1 8.6 31.8 2.4 15 1.6 9.3 0.7 0.8 1.6
60A|0] 4 Of X} 164 156 - 0.6 0.6 0.6 15 3.8 436 9.9 20.8 26 3.7 . 8.7 - 2.5 1.1
ME2 191 190 - 1.0 2.6 3.2 0.5 42 27.7 8.9 23.6 1.0 26 2.1 18.8 1.0 1.6 1.1
d71/20H 302 313 0.9 0.3 1.9 2.5 0.9 2.2 19.3 114 30.8 1.8 2.1 3.8 18.2 1.0 2.2 0.6
CH /S -/ M B 112 106 - 1.0 0.6 0.6 1.9 2.3 23.2 12.1 27.5 45 - 44 17.7 26 1.0 0.6
X Z/AF 53 43 - - 47 2.4 2.0 1.1 288 11.6 25.7 - 2.1 - 184 2.1 - 0.9
BAEM/AY 162 152 0.5 0.7 5.3 2.7 0.5 3.4 30.6 9.3 24.6 - 1.0 1.1 16.7 0.9 1.8 1.0
/45 104 98 - 1.0 = 1.6 = 5.5 29.1 11.2 19.5 1.0 5.3 0.9 16.9 0.9 6.2 1.0
M3 /M5 111 98 - 0.8 1.4 13 1.4 3.4 8.9 21.8 36.2 6.3 0.8 33 12.5 - - 1.8
O] H 369 350 - 1.1 2.6 2.2 1.1 2.5 1.1 5.9 72.2 1.0 0.3 3.9 46 0.3 0.8 0.4
eMd 341 320 0.3 0.6 1.2 2.2 - 1.4 68.7 2.9 0.6 0.9 3.6 0.9 13.6 - 1.7 14
7t A1 J|EtR R 226 228 1.2 0.4 1.6 3.1 1.1 5.6 2.4 26.8 2.1 4.0 34 3.7 40.5 3.2 0.9 -
XXFzEQS 79 82 . . 5.3 1.2 34 7.1 4.6 25.1 13.0 47 = . 21.8 2.3 11.5 =
HnE 20 20 - - 10.2 - - - 35 26.5 15.3 - - 6.4 17.6 36 - 16.9
o| %y 370 347 - 1.1 2.2 0.7 0.9 2.2 35 7.0 73.7 1.0 - 3.7 1.9 0.3 13 0.4
EEEH 321 305 1.0 0.3 1.2 2.2 0.6 44 20.9 5.0 3.7 0.8 26 2.2 53.7 - 0.8 0.7
7t A2 J|EfZH 193 198 0.4 0.5 49 47 1.2 3.9 37.3 26.3 15 5.6 3.8 2.7 1.0 2.7 15 2.1
XxzELS 116 116 . 0.8 1.6 3.3 15 2.3 47.8 19.9 3.4 2.1 40 1.1 13 2.5 8.3 =
HgE 35 34 - - - - - - 83.9 5.9 - - - - - 5.1 - 5.1
CE0o 2l 332 333 - 0.9 1.2 0.3 0.9 1.5 3.0 24.1 55.0 4.2 0.3 4.0 1.7 1.1 0.6 1.1
=alo| 3 377 353 0.5 0.6 1.1 1.9 0.3 35 483 1.7 1.7 0.6 47 0.8 32.2 0.5 0.9 0.8
HMo|ct 41 40 2.5 2.0 24.2 = 1.0 5.0 8.4 8.7 26.0 6.4 - 5.7 73 - 2.6 -
x| x| =Zolo| g 75 70 1.4 1.4 23 6.9 - 4.2 44.0 35 15 - 13 - 24.9 2.2 42 2.1
Hot Ry 74 74 - - 1.0 4.1 0.9 1.3 1.3 15.9 65.3 - - 7.5 26 - - -
7|Epd gt 14 13 - - - 77 5.7 - 154 14.7 15.1 - - - 20.3 5.6 15.5 =
XX dg oS 110 106 - - 29 5.6 3.0 7.8 11.4 10.4 20.3 1.0 1.7 1.6 24.1 1.9 7.1 1.3

HODE 12 11 = = = = = = 36.3 = 6.5 = = 59 34.1 9.2 8.0 =



6) SMENME AFEME Ol CHSHO (T E A A8 215HA LIDF?

re
ot

7HS 21

7 A2

x| x|

et

A
18M| o4 20t
30CH
40ty
50CH
60A] Of A
=R
oM
18M| 0| &k 20CH Xt
18M|0| A 20CH Of X}
30CH EFAt
30CH O Rt
40CH EF Rt
40CH Of R}
50CH At
50LCH O Rt
60A0| & Xt
60A| 0| A+ Of X}
ME
a71/20H
H/EH/MF
Z/AF
B2/
/45
/225
ol Xl H

Mg

7|EtZ R
XxzRAS
HnE
o|xHd
E&E
J|EtZ R
Xxz2AS
HnE

E-PN
oz
JNEES

(1035)
148
171
204
219
293
532
503
100
48
98
73
98
106
107
112
129
164
191
302
112
53
162
104
111
369
341
226
79
20
370
321
193
116
35
332
377
41
75
74
14
110
12

s %
poK=)
=S

At

(1000)
177
158
187
194
284
496
504

93
84
82
76
95
92
98
96
128
156
190
313
106
43
152
98
98
350
320
228
82
20
347
305
198
116
34
333
353
40
70
74
13
106
11

AMEH| =X #£8 otL|2t HAo = Y
Ct

%
54.1
61.1
62.9
57.5
54.9
422
58.0
50.2
65.3
56.4
66.2
594
62.1
52.7
58.0
51.6
44.8
40.1
51.3
58.2
50.3
60.6
54.7
48.7
52.0
50.8
55.1
62.5
454
34.1
51.6
67.1
47.0
46.1
31.2
48.8
58.2
57.8
56.0
40.9
51.3
64.7
457

=
3t

MR = EH R

MIHEE FX[SHE|
e dryetct
%
276
27.6
187
298
27.6
30.9
25.9
29.2
258
29.5
143
233
236
36.2
286
26.5
327
294
294
26.1
308
243
25.1
332
247
326
238
26.4
283
10.1
305
20.9
29.2
315
343
329
235
19.8
23.0
355
302
25.2
183

MEH M= XHAIE B X| 50]oFstCt

%
5.8
44
8.1
6.9
4.7
55
6.7
5.0
3.8
5.1
9.5
6.7

10.1
3.7
33
6.2
7.1
4.2
6.3
5.0
5.8
2.3
7.1
4.5
8.6
9.5
3.9
2.5
6.4
8.8
9.6
1.8
6.5
4.2
5.2
8.7
3.2

17.5
43

10.4

0.4

¥RE

%
12.5
6.9
10.3
5.8
12.8
214
9.4
15.6
5.0
9.0
10.0
10.5
4.2
7.5
10.0
15.7
15.5
26.3
13.0
10.7
13.2
12.8
13.1
13.6
14.7
71
17.2
8.6
20.0
46.9
83
10.1
17.3
18.2
29.3
9.6
15.1
49
16.7
13.1
18.5
9.7
36.0



7) SMENME XYt S8 & A DEAFE 9 2tH
ZAL e &
2= HE £y
ArEl == A2
%
A (1035) (1000) 428
18M| o4 20t 148 177 35.6
30cH 171 158 50.1
al=) 40cH 204 187 52.3
50CH 219 194 47.3
604 O] A 293 284 339
M =248 532 496 45.7
° o 503 504 39.9
18A110| & 20CH X} 100 93 31.6
18M| 0|4+ 20CH Of Rt 48 84 40.0
30CH At 98 82 53.9
30CHOI &Rt 73 76 46.1
40CH =Rt 98 95 53.1
Am/ed 40CH O K} 106 92 51.5
50CH &AL 107 98 47.2
50CH Of R} 112 96 474
60M[0] & EA} 129 128 44.0
60A0| 2 Of X} 164 156 25.5
ME 191 190 41.8
A71/20H 302 313 43.0
CHE/SH/MS 112 106 39.3
e Z/HF 53 43 436
B2 4/38E 162 152 442
/35 104 98 34.9
HE/EF/HE 111 98 52.8
O|x{H 369 350 62.5
Mg 341 320 24.8
7Ha oA J|EfZ & 226 228 41.8
XXEZEHYUS 79 82 34.8
HoE 20 20 29.7
o|x{H 370 347 60.9
EEEH 321 305 35.6
7HdoiAE2 7|EtZH 193 198 35.3
XX=HUS 116 116 30.6
ERE 35 34 7.5
GE0 g 332 333 57.1
=2lo| & 377 353 29.8
ol 41 40 344
|| =olo| o 75 70 18.8
xct gl s 74 74 75.2
7|Epd gt 14 13 534
XX "t gls 110 106 38.0
A o= 12 1 22.5

%
12.1
8.6
8.7
5.7
10.8
21.3
12.7
11.5
10.1
6.9
12.5
4.6
4.2
7.3
14.0
7.5
20.1
22.3
13.7
9.9
11.9
21.5
13.9
14.2
7.6
4.0
25.9
7.6
7.6
35
6.2
14.5
133
12.5
43.2
4.9
20.2
7.5
29.0
13
7.8
6.8
8.9

10.8
13.2
11.2
7.7
9.9
3.6
5.5
8.2
10.5
7.1
10.2
9.0
8.2
8.5
4.7
2.8
17.8
55
2.2
5.0
24
9.6
11.8
13.7
14.9
4.4
13.1
4.6
12.3
34
7.0
4.3
27.0

HL

%
21.0
29.9
17.6
19.1
16.7
21.7
17.5
24.5
31.2
284
10.9
24.7
17.1
21.2
14.9
18.6
14.0
28.0
23.6
22.9
204
12.2
18.4
22.6
17.0
12.7
22.9
242
353
41.6
14.9
24.0
204
31.0
25.6
17.6
24.0
27.3
239

71
134
27.2
35.7



E8) MY

HM= ChHS

CC

o=

HH|
18AI 0|4 20CH
3och
40CH
50CH
60| O] &

Cic

(1035)

148

171

204

219

293

532

503

191

302

112

53

162

104

111

(1000)

177

158

187

194

284

496

504

190

313

106

43

152

98

98

e
e

%
33.3

33.5

32.5
29.7
27.7
38.9
26.7
35.2
45.0
33.9

23.4

54.9

35.3

40.1

43.3

40.2

30.5

30.6

31.2

39.7

43.0

45.9

19.0

= XX|SHHL 77 2 F2 2|0 YLICE.

4.0

5.3

3.4

3.5

5.6

2.7

4.5

3.5

5.2

3.7

1.0

1.9

6.7

6.4

7.0

2.1

8.2

5.7

7.8

9.6

6.6

7.3

7.9

8.0

2.0

5.9

6.9

12.5

2.4

7.4

4.4

10.4

8.6

8.2

6.4

8.5

6.4

6.7

8.1

8.8

6.4

8.3

5.3

6.4

%

1.3

0.6

1.0

2.5

1.9

0.7

1.3

1.3

1.0

1.9

0.9

2.1

2.0

gQod XA
ojo omt X

10.6

13.6

12.3

6.3

10.2

10.9

10.0

10.7

10.5

10.1

9.7

13.2

10.1

!

1]
Ol

%

1.1

0.5

1.8

0.9

1.0

1.3

0.9

1.2

1.0

1.8

0.6

1.8

0.7



